TRANSMISSION ADAPTER

PART# 0060

Fits 1963-Up Chevy V8 Engine to

1966-Up Olds, Buick, Pontiac and
Cadillac-Super Turbine 300, Th350, Th400

INSTALLATION INSTRUCTIONS

Important! Read all instructions before you begin installation.

PART LIST
1 - Steel Adapter Plate 4 - 3/8-24 x 1" Hex Head Bolts 3 - 3/8-16 x 1" Hex Head Bolts
6 - 3/8” Flat Washers 2 - 24 x 1”7 Flat Head Socket Screws 2 - 3/8-16 x 1'2" Hex Head Bolts
6 - 5/16” Flat Washers

1. Bolt adapter plate to the rear of the Chevrolet V8 Engine using the 3/8 16 x 1” bolts and
the 3/8 16 x 1” Head Socket Screws included in this kit.

2. Use two 3/8 or 5/16 flat washers (depending on the bolt size used) on each converter bolt
between the converter and the flex plate. Torque to factory specs.

3. Use the 3/8 24 x 1" Hex Head Bolts and the 3/8 16 x 1 72" Hex Head Bolts to mount the
transmission to the plate and the engine. Torque to factory specs.

4. Use the stock flex when possible or use Chevrolet #471598.

(o]
Part# 0060
o : o
O o)
O O
K/ Aoo \/ oo/, )
‘ M o0 __ 00 &~
kC B 00 ‘ ' 00 = )
’@ﬁ \ Part #0055 PILOT BUSHING may be needed to align converter with crank
on Chevy/GM when using 5/16" engine plate.
v
Part# 0055

12438 Putnam Street ® Whittier, CA 90602 tel (562) 921-0404 e fax (562) 921-7515
website: www.tdperformance.com e email: techsupport@tdperformance.com



